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ENGLISH VERSION

Instructions : (1) Write answer of all questions in main answer

sheet.
(2) Figures in the right side indicate marks.
(3) Give answer question no 2 to 5 on the basis of

internal
1 MCQ. 20
(1) On which factor consumption expenditure depends ?
(A) Income
(B) Propensity to consume
(C) Income and propensity to consume
(D) None
(2) How many stages are there in a business cycle ?
(A) Four (B) Three
(C) Five D) Six
(3) Which type of unemployment is exception in free
economy ?
(A) Involuntary unemployment
(B) Voluntary unemployment
(C) Disguised unemployment
(D) Seasonal unemployment
(4) Which type of economy is free from government’s
intervention ?
(A) Socialist economy
(B) Mixed economy
(C) Communist economy
(D) Free economy
(5) In which stage of trade cycle production cost increase ?

(A) In the boom phase
(B) In depression phase
(C) In recession phase
(D) In recovery phase
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In which countries, cyclical fluctuation is not seen ?
(A) 1in Industrial countries

(B) in Agricultural countries

(C) 1in Underdeveloped countries

(D) 1in Developing countries

Which principle of money is considered as Prof. Hayek’s
principle ?

(A) Excessive Investment

(B) Under Investment

(C) Medium Investment

(D) Direct Investment

Which factor increased in inflation in the economy ?
(A) Production Cost (B) Income
(C) Price D) Al

Which instrument of monetary policy can be utilized to
remove bad effect of boom ?

(A) Bank Rate

(B) Open Market Operations
(C) Cash Reserve Ratio

(D) All these three

After getting full employment, which increases after the
increase in demand for production factors

(A) Marginal Cost

(B) Opportunity Cost

(C) Total Production Cost
(D) Average Cost

Who presented the psychological theory of trade
cycle ?

(A) Prof. Jevons

(B) Prof. Joseph Schumpeter

(C) Prof. Pigu

(D) Prof Hayec
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(12) Average Propensity to Consume means ?
A AP.C. B) 1-APS
€ Cly O Al

(13) What type of fluctuations are considered as the routine
event ?

(A) Non Economic Fluctuations
(B) Social Fluctuations

(C) Economic Fluctuations

(D) Cultural Fluctuations

(14) According to Pigu, which employment is created by the
policy of government and trade cycle ?

(A) Frictional Unemployment
(B) Active Unemployment

(C) Involuntary Unemployment
(D) Voluntary Unemployment

(15) When inflation is limited only to certain commodities,
then it is called which type of inflation ?

(A) Partial (B) Short Period
(C) Perfect (D) Long Term

(16) What is the time period of short term inflation ?
(A) Short (B) Long
(C) Medium (D) Very Long

17 APC. + APS. =

@ 1 B 2
© 15 (D) None

(18) When more money is required to be paid few goods, then
which type of inflation is created ?

(A) Profit pull inflation
(B) Demand pull inflation
(C) Cost pull inflation

(D) Wage pull inflation
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(19) When the “General Theory” book written by Keynes was
published ?

A 1930 B) 1936
(C) 1776 D) 1841

(20) If the expense incurred by the government does not help
increasing production, is called what ?

(A) Capital Expenses

(B) Revenue Expenses

(C) Unproductive Expenses
(D) Productive Expenses

2  Answer any one question : 10
(1) Explain “Supply creates it’'s own demand”
(2) Explain the modern theory of employment.

3 Answer any one question 10
(1) Evaluate the wages cut theory
(2) Write note the stages of trade cycle

4 (a) Write short note : (any one) 8
(1) Explain trade cycle theory of Prof. Hawtry.

(2) Explain the concept of voluntary, involuntary and
frictional unemployment.

(b) Write short note : (any one) 8
(1) Write note of characteristics of trade cycle.
(2) Explain types of economic fluctuations

5 Answer in brief any two of the following : 14
(1) Monitory policy to control inflation
(2) Inflation gap
(3) Walking inflation and galloping inflation
4) Explain good effect of inflation
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